Fixed components

omega = 2 * 3.14159 * 200e6

Z0=50
L = ZO/omega
C = 1/(Z0*omega)

Variable capacity
capl=1.55e-11

L: 3.979e-08
C: 1.592e-11

PORT
p=1 D—Di
Z=50 Ohm

PORT
pP=2
Z=50 Ohm

MLIN

ID=TL3
W=3.28569 mm
L=223.52 mm
MSUB=SUB1

=

MLIN

ID=TL5
W=5.55 mm
L=223.52 mm
MSUB=SUB1

RES
ID=R10
R=0.5 Ohm

-

MLIN
ID=TL4
W=3.28569 mm CAP |
L=223.52 mm ID=C19
MLIN MSUB=SUB1 C=caplF
ID=TL6
W=5.55 mm
L=223.52 mm
MSUB=SUB1 T
&
RES
ID=R3
R=0.5 Ohm
CAP I
ID=C3
C=caplF

e B

Voltage controlled phase-shifter (instance 1)

MLIN

ID=TL1
W=3.28569 mm
L=223.52 mm

MSUB
Er=3.6
H=1.5 mm
T=0.035 mm
Rho=1
Tand=0
ErNom=3.38
Name=SUB1

MLIN

ID=TL2
W=3.28569 mm
L=223.52 mm
MSUB=SUB1

RES
ID=R2
R=0.5 Ohm

CAP
ID=C2
C=caplF __

RES
ID=R1
R=0.5 Ohm

CAP
ID=C1
C=caplF ___




